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QUESTION 1

In a Daily Scrum, one of the Team members complains about frequent interruptions by non-Team members. 

Which person should remove this impediment? 

A. The Product Owner 

B. The Scrum Master 

C. The Development Team 

Correct Answer: B 

 

QUESTION 2

A Scrum Team has time left in the current Sprint and extra Product Backlog Items can be done. Who decides which
Items should be done in the current Sprint? 

A. The Product Owner 

B. The Scrum Master 

C. The Development Team 

Correct Answer: A 

 

QUESTION 3

Why does the Daily Scrum need to be held at the same location and time? 

A. The booking of a room needs to be done in advance for the duration of the Sprint. 

B. The constant time and place is best for continuity of the Scrum framework. 

C. The Project Manager needs to get the status updates at a given time every day. 

Correct Answer: B 

 

QUESTION 4

Which of the following statements best expresses the role that the daily stand-up meeting plays in the monitoring of a
Scrum project? 

A. The stand-up meeting helps the Scrum Master to update the burn-down chart. 

B. The stand-up meeting gives the team insight into their progress and their issues. 

C. The stand-up meeting lets the Product Owner review the progress of the team. 
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Correct Answer: B 

 

QUESTION 5

Under what circumstances would a team use Affinity Estimation Technique instead of Planning Poker? 

A. If more details are needed during Sprint Planning 

B. If there is a large number of stories to estimate 

C. If there is a small number of stories to estimate 

Correct Answer: B 

 

QUESTION 6

A project is so large, that it requires multiple Scrum Teams to work on it. The Scrum Teams will be working in 2 different
locations. 

Who would lead the Sprint Planning meetings? 

A. One of the Scrum Teams should lead the Sprint Planning meeting. 

B. The Scrum Manager should lead the Sprint Planning meeting. 

C. Each Scrum Team should lead their own Sprint Planning meeting. 

Correct Answer: C 

 

QUESTION 7

A Scrum Team works on a project in 2-week Sprints. During the Sprint Planning meeting of the third Sprint, 

the Product Owner says: 

"I will be going on holiday in 2 weeks. Let\\'s change the duration of this Sprint to 4 weeks, so that I will be 

back when it ends." 

Should the duration of the sprint be increased? 

A. Yes, because the Product Owner must be available at the end of a Sprint. 

B. Yes, because Sprint duration can be anything between 2 and 4 weeks. 

C. No, because the Sprint duration is not based on single events. 

D. No, because only Development Team members may change Sprint duration. 

Correct Answer: B 
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QUESTION 8

Who knows most about the progress towards a business objective or a release? 

A. The Product Owner 

B. The Scrum Master C. The team 

Correct Answer: A 

 

QUESTION 9

What is a Scrum-of-Scrums? 

A. A meeting for management to get insight into the working of teams. 

B. A meeting for Scrum Masters of international Scrum teams. 

C. A meeting to coordinate the work of multiple Scrum teams. 

D. A meeting to show the customer an update of the product. 

Correct Answer: C 

 

QUESTION 10

What happens with the User Stories during the Sprint Planning meeting? 

A. The items move from the Product Backlog to the Sprint Backlog. 

B. The items move from the Release Backlog to the Sprint Backlog. 

C. The items move from the Sprint Backlog to the Product Backlog. 

Correct Answer: A 

 

QUESTION 11

When does Product Backlog refinement or grooming take place? 

A. at the start of a Sprint 

B. during the Sprint Review 

C. during the Sprint Retrospective 

D. throughout the Sprint 

Correct Answer: D 
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QUESTION 12

A Scrum Team is estimating User Stories. The Scrum Master suggests the Affinity Estimation technique. What is the
process of Affinity Estimation? 

A. Compare the Story to reference Stories and then estimate it. 

B. Estimate on your own, then discuss everyone else\\'s estimates. 

C. Sort all Stories based on their relative effort required. 

Correct Answer: C 

 

QUESTION 13

For the Development Team and the Scrum Master, the Daily Scrum is mandatory. Other roles may only participate
without speaking. 

What is the most important reason that other roles are not allowed to speak? 

A. Because it is not a status meeting for all stockholders. 

B. Because other people speaking would let the meeting run late. 

C. Because the meeting is just for updating the work done. 

Correct Answer: A 

 

QUESTION 14

What is a Sprint? 

A. A brainstorming session in Extreme programming to generate design ideas. 

B. A race between two developers to see who can complete a feature fastest. 

C. One iteration in the Scrum methodology. 

D. The last iteration in the Scrum project, when the team works long hours to finish the project. 

Correct Answer: C 

 

QUESTION 15

Which statement describes Release Planning? 

A. After looking at all the stories in the backlog, the team estimates their effort in detail. 

B. The team meets with the customer to negotiate the scope, cost and time of the release. 
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C. The team and the Product Owner agree on an initial plan for the delivery of features. 

Correct Answer: C 
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